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CHEMISTRY (VS ) - Jrier) - 024 2
Q. Paper :I (Objective Type) PAPER CODE = 5483 J/’d’:/’ )1 ,>/.Jlr
Time Allowed : 15 Minutes (e2/by) o 15 1
Maximum Marks : 12 : A
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.

Colour of concentrated solution of KMnO, is ke K S },f L KMn0O, |11
Dense purple S2B) Densered {1/ (A)
Dense White yesél (D) Dense orange &l (C) ‘
Free mobile electrons are pref B cgr Zwoazr 29 S |2
Non-metals§ &% 2t (B) Metals H(A)
Covalent compounds "}SV&:/ (D) lonic compounds s3I T (C)

Which one of the following elem. felongs to : ‘LL"»CJL";; (1) s ._dfw:“w«u/c;u.u}@u 3
group eleven (11) : ’

Zn (D) Cu (C) Ni (B) CO (A)
Mass of an electron is : r JL ¥ uya: 4
9.106x10 g (D)  9.262x10™g (C) 1.0087x1072* g B)(e@zuo \
(ﬁ’ﬁ/;) \ <
In electroplating of silver, silver ions deposit on : o %r G ST RS 5]
steel £ (D) Spoon & (C) 7€ (B) Rubber % (A) .
Which one is free radicals : Q}b te Frsiof e S uile
. cL, (D) cl 4@3@ H* (B) cl (A
Metal hydrides have oxidation numb O . A ST K JI Hl7
4 (D) )3 (¢ 2 (B) 1 (A) _
Lanthanum series started fr: 2 e Jn L;/‘ Z=7y 7 aaginllg
59 (D) 58 (C) 57 (B) 56 (A)
The father of nuclear science is : fe o ¥ u'*’l/ /"5:. 9
Crooks U5/ (D)  Thamson &% (C) Bohr +4 (B) ~ Ruther Ford 55 (A)
Which one molecule will evaporate first : : ?ndiulalj&dzgtvcjﬂgcquful 10
Ciafl (D) Ciofly (C) CgH 3 (B) CeH1y (A)
Which one is more stable and hard covalent compound : : < f«:it{ woked &5 Ll ,/gy g Je 11
CeH 1,04 (D) H,580, (©) €O, (B) CHy (A)
Dental amalgam for filling of tooth is a type of solution: LJVJ‘/J’.LW I uilu’z:url:i f’l'lJ" 3112
Liquid-liquid ZL43L (B) Gas-gas J-fu*u’f(A
Solid-solid U#_4u¥ (D) Liquid-solid U¥_284 (C)
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Paper :I (Essay Type) i (s,aﬁfm) o2 G aslas) 1 fs.a/ )
Time Allowed : 1.45 hours 2145 ;25
Maximum Marks : 48 ( PART-1 U3 ») .48 4K
10 2. Write short answers to any Five (5) questions : :al IOl /"" L iy (5) él. & (jf -2
(i) Differentiate free radical and molecular ion. -gi: I AT /r-OL vl ﬂi; ¢/} (i)
(ii) Soft drink is a mixture and water is a compound. Justify. -éu&.;: -aﬁ?bf‘}t:éa/’(yﬂ;"dy (ii)
(ii) What are the defects of Rutherford's atomic model? ?‘)7 b:/ ﬂ‘& i JJ:L :f ¢ 3050, (iii)
(iv) Write down any two properties of cafhtiErays e - _5’"_-( g/' c::'Lor" ny ‘j:( J ‘/u‘,;‘-f (iv)

(V) Define electronegativity. Which
element has the highest value of el

; gvtklfyv?w):&ﬁd/d.’?’g:/‘g WSt L S w5 20 (v)
. ativity?
(Vi) Why are the elements called S andgP Héck elements? ‘e b L‘J/ v (fw;t-f WP .lS fﬁ (vi)

-

—

(Vi) Why does the size of atoms decreafje in a period? S tnuld f L ﬁ! Ue k5 (Vi)
(Vi) What is meant by effective nuclear ar’ge? ‘-’4"_:’/..1/’2_ (effective nuclear charge) &b /’.{z /:;' (viii)
10 3. Write short answers to any Five ¥8).questions : : ol (O 4 /"? L :«Ub;(S) | = Jf -3

(i) Write the importance of electronic configuration of noble gases. -é-f/ fq&fJgﬂ/G’( .b/i/"?ltf /_'j J‘J (i)
(ii) What is the effect of intermolecular forces on boiling point? ?‘gt‘ﬁ/:’ﬂ;{ iy My ¢ 74;’ /r-a LF1 (i)
(iii}) Write the electronegativity values of H and ¢ atoms. -égf“ Jz,&: g N>, ::l H (iii)
(iv) Differentiate diffusion and effusion. Y Ui %3 (iv)

(v) How boiling point is related to vapour pressure of liquid??‘gg}bj % /”I.{ g2 L (‘jl. (&'gﬂ/b,’ (v)

(Vi) Define molarity. Write its formula. & b g ._v/‘.'. J é’/r (vi)

(2‘(}/)) %
3. (vii) Define endothermic reaction. @ -5‘_3/ ..y/7 g ui‘:ldz \_f/?:ﬁd (vii)+ -3
(viii) Why does colloids show tyndall effect? @ St S ud sl ¥ wli J2 J/}fU/ (viii)
10 4. Write short answers to any FIVI Sstions : : &r@wﬁ:’lauw (5) ét & J:( -4
Snple S S P et £ad ()
CuNOy),. - ped s TSPt CutNOy), (i
. e okl ¥ Kbl LS (i)
(iv) Justify the given reaction is a redox reaction : e ui{!d/ Jgé/ ui‘: 16 St f_é <k (iv)

2Na + C¢,—>2NaC’¢ L, . " P
(v) Write down any two uses of magnesium. -é 77 = UEt g df L arlin€as (V)
ot U U Je Ut e e ol S (i)

(vi) Why is gold not used in pure form? A
(vii) Write down the name of any four halogens. & yf rt Z /:ﬁ”: Je < F (vii)

(viii) How does methane react with S0/t 1) A £ ¥ & (CH ) sion U Gos £ Gor (Vi)

chlorine in bright sunlight? ( PART- i =)
- 3]
Note : Attempt any TWO questions. 5 -g .:AL?. L ally s 81( tad
5 5. (a) Write the five differences between compound and mixuire. - 20, J/ ég L ,j‘/”m ,‘05({ () 5
4 (b) How coordinate covalent bond is -_é Oh ) s u‘-‘-"k”? »ie U L woksf ..b;':isz ()
formed? Explain it with the help of two examples,
b L i, . 5 3
5 6. (a) What are isotopes? Describe -_e:i-’ug.uéyf iéu_’/:gz:lgf;//gyrcji% 9{.)1/312-.&#‘ (W) .6
isotopes of carbon, hydrogen and chlorine. . .
4 (b) Write down any four typical properties of gases. ) 24 =l Sl g d:’/ J /_:f (<)
2,2,1 7. (a) Explain the construction and working of -érl:/.f('/gb'/'i -éug;?&f_uw d/L}’JJ‘ 5 (W) .7
Daniel Cell, draw diagram also. . 5
4 (b) Discuss the effect of temperature on solubility. -ué &5 4 /) L st £ &yﬂr (&)
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CHEMISTRY (Vi ) - un/ - 024 . S e
Q. Paper : I (Objective Type) PAPER CODE = 5484 AT 2 gyl
Time Allowed : 15 Minutes (o1 /ip9) L 151 =
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L 2 e e u'u:/’::ﬁé_:z_k/éd‘r//d(d'i u”d_c. Dl CcB« A..at'i.f/laLJfr/ <
-Kr/r"bkuiiwau‘u/ﬂud__// Jok | L/Ju;/b ol e L é}/c,J'L/Lf/b.ahfu’lbf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one of the following is heterogeneous mixture : d §. /f( J«”:‘;/; L uf = Jj;’ Z;u
Sugar solution J:L“K/j“' (D)  Milk of magnesia l}:é‘ L (C) Ink Jezs, (B)  Milk (2255) & (A

A bond formed between two non-metals is expected to be : (y 'y SN & en £ )"UL 2|2
Metallic (i (D) Coordinate covalent ..fr"»’:/'u '8 (C) lonic ¥ T (B) Covalent woksd (A)

Which one of the following : < 32 A LB H d/ Ll r/ S S5 o e S S ens]3
metal burns with a brick red flame :

Calcium azilsS” (D) Iron 77 (C)  Magnesium srinee (B) Sodium (3 (A)

The most abundant element occurring in the : c_vfj'!l/u/;bc_./u‘ QMIL!;Lb;Lu‘JM 4
oceans is :

—_

-1

Silicon g€k (D)  Nitrogen /£t (C) Hydrogen u’-u!«;ﬁg) xygen u’-’"—r 7(A)
P PR SN >/
(2) p o\
Formation of water from drogen and oxygen is : MdjﬁVuvachft/;!J3/y§ 5-1
Acid-base reaction ¢/ =1, 6-172- uw (B) %5 Redox reaction u"( rd;a’u/ A)
Decomposition J& < (D) N Neutralization SR _
The mass of one molecule of water is : @U P UL ¥ J,_,QL .{1 <C L}L 6
¥ 18kg (D) S8 S 189 (B) Ji1 18 amu (A)
Which one of the followmg iss ectrolyte . te uUJ/g' b L uf & U J:)’ Laol7
NaCtin water / NaCt J~ 4 a(OH), (C) CHyCOOH (B) Pure water 3L°% (A)
Along the period, which on\er} the following decreases : 8 db dr H/ 7 uﬂr o Sy Ut L b J 8
lonization energy S/~ #t# 1 (B) Atomic radius ok sk (A)
Electronegativity s /.OV (D) Electron affinity tu.a ul/dl (C)
Deuterium is used to make : te b JWI L Ly & bl
Heavy water /s (§»7 (B) Light water /s <4y (A)
Hard water 7 34 (D) Soft water /15 L3 (C)
How many times are the liquids denser than gases : CE Ln S el g ¢f c/«f UL 10
" 100,000 times (D) &~ 10,000 times (C) ~ & 1000tmes (B) & 100 times (A)
The electronegativity value of fluorine is : _ - ,;1:, u:m-gfgl J duﬁ 11
4.0 (D) 3.0 (C) 2.0 (B) 1.0 (A)
I 20 em® of alcohol is dissolved in 100 g of water, : <tz 7 bl UK 20 am® Uty 1710041 [12
iti lled :
tisca Vv % (D) vim % (C) mi % (B) mim % (A)
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CHEMISTRY (V) - e 024 (5 tunasS
Paper : I (Essay Type) (a5 1) Gobaslas) 1 24
Time Allowed : 1.45 hours 145 0 &
Maximum Marks : 48 ( PART-1 J3 .2) a8 : A
10 2. Write short answers to any Five (5) questions: 4 AR 4 /"" L ey (5) ég = Jf <2
() What is a scope of industrial chemistry? fe 7}'; 'Y u’f-‘-( J Y20

(ii) Which two elements exist in liquid state? Write names.-’&‘f(t Sl lgé_.l_,uf.:r’(aél.umﬁdaw/_.f(ii)
(iii) How isotopes can be used for the treatment of cancer??‘a.CﬁtggJch_,'_/é’.ﬁ@wL_/’[fgﬁ;/f (iii)
(iv) Define a shell and a sub-shell. -..é .g//‘". J wa 2! an (iv)
(V) Write any two salient features of long form of periodic table. _g",:(_/ /::ygor“’.(? 1535 &U‘)‘_f;g ﬁrzﬁj ¥ (v)
(vi) What is meant by law of octaves? Who put forward it?‘-’ézfn d_u{_, fe ol Ve ):ff TST e (Vi)

(vii) Write two objectives of Alchemy. ' _éJ:, _/f wol s L A5t (Vi)
(viii) Define ionization energy with an example. &= J& L sl gé’ -/ J G Jo7E T (viil)
N i
10 3. Write short answers to any Five (5) questions: . AR L ety (5) é& = Jf -3

(i) Why do atoms react? 1194 2'_“// U«’.’.(_ of I T A1 ()

(i) Write two properties of ionic compounds. vy 2/ e g J%L{ SEET (i)

(iii) Differentiate lone pair and bond pair of electron. -5’5 0] J/ ufﬁc):' Z u,/’?; (iii)

P ud LA ()

(iv) Why are gases compressible?
(v) Evaporation cause cooling. Give reason, - Wk 2 - =S iy S Jeusedl (v
& Uk 2 < o g Jr =53
(vi) What is the difference between unsaturated and saturated [RENY) Y™ 031 20 T (Vi)
(ihiu) g}z
- y ) 5 . \ )
3. (vii) What do you mean by v/v % concentration uni — Te oy Y = u{hpﬂrﬁw (Vll) -3
" (viil) Why suspensions and solutions do not % U u,{‘ b ¥ L JiE Ak s AT (Vi)
show tyndall effect? ' Q . o & » ) 4
10 4. Write short answers to any Five((5)¢juestions: . ..«}b? {"’E:JT}‘”;S)?,/CJ’ J(i)
(i) Define alloy with example. i—g:-/m’g} - /L; u(:/ i
i i f corrosion. & yf &SN W e
(i) Write two methods for p no R o i o
) s T) o J- (i
(iii) How electroplating d‘;’: 4.//7 vg/’L :,/xa ﬁ.{f U"' ((iV;
(iv) Define oxidation number. 3 ‘C_~.}'%“ :"J-ﬂd Yf ; _; o
(v) Name four least reactive metals. » O(L y ” *d/-‘ijé ? )e:'ug e
i i YRl
i -metals are essential for existence of life? Sh0n/sf & < K - !
O e _2,_6 e o L})/ Z (-:»’ (vii)

(vii) Write any two uses of sodium. | = on Pty
(vii) What is the difference between alkali and alkaline earth metals? ‘-’9.0/&@3)“}’/ JEI s uﬁ (viii)
( PART-1I p» .2 ) )

i *UKL..:UV»GGIZ..‘J
Note : Attempt any TWO questions. . £ 4 = .
5 5. (a) How to write a chemical formula? ‘éf.;(c.u:'t?gfl‘/yu:g;uﬂ ‘-’q.b'lqw;rv:’/bdkf (W) -5
Explain with suitable examples. ATy .
2,2 (b) Wfite note on dative covalent bond with one example.-:_éf;j_/ 7"’")[4*. gc):ug._\.g.\ & l/LJbV..Q ((.:3’) i
5 6. (a) Give five differences between Rutherford's -24_’.6 J/ ég 4 L J sid ash 3280, -

: ; i th _ .
atomic theory and Bohr's atomic theory _gf_:_-)u,&ﬂc—,y_)’dp -égu&:u’lb KUJJLO (?)

I
kes place? e

4 (b) State Charles law. Explain it along with

mathematical expression. " A e
5 7. (a) Discuss the rules for assigning oxidation numbers. -g’f_: wk ):;; j S %gé/‘ ,5 A_:; l ((._n;) 7
4 (b) What is a super saturated solution? How it is prepared?e bl e » sIUY O VLY A

114-024-11-(Essay Type)-130000
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CHEMISTRY (V87 ) - Jrierj - 023 6 AuasS
Q. Paper :1 (Objective Type) PAPER CODE = 5483 CAS») 12 gqdr
Time Allowed : 15 Minutes (o1/i2) e 15 2
Maximum Marks : 12 124 /J

L oRene Ju-fb{!.‘r n&.‘.b&d'fﬁ{dl’d‘ﬂ -u}ééuﬂ m CiB. A.:.W!.'fr?ﬁdlrﬁ Oy

G mni La (L S X LS fin vy e L1 LB fe BV INhnse b
Note : Four possible answers A, B, C and D lo each question aro given The choice which you

think is correct, fill that circle in front of that question with Marker or Pan ink in lhe answer-book
Cutting or filling two of more circles will result in zero mark in that question

Tyndall effect is shown by ! n e/ -/Uv ¥ 2Pu Ji21
Chalk solution J,-“ v (D) Jelly ‘J:: (C) Paints u"'s (B)  Sugar solution J)’);" (A)

Identity the compound which has covalent bond re bl il & b L E s g Zilf 1|2
 hce o ca0 (€ KCt (B) NaCl (A) ,
One of the following is non-metal, identify it : c‘,g._.-'*l'«Jdl ‘e J":ul ..l-’(k' .f e (L U.....,.!,,IJ;L;; 3
o Cr (D) Br (C) Ca (B) Na (A)
How many number of moles are equivalentto 8 gmof COp : @ e 4z £ T enpSL o4
0.24 (D) 0.21 (C) 0.18 (B) &@ 0.15 (A)
The most commen example of corrosion is : Qk/) - Je- (ke g oS |5

Rusting of iron J.ﬁr(g.:“ (B) O% ical decay u{u\ftf (A)
Rusting of tin B‘JJ’j:.fJ (D) %C@ Rusting of aluminium blf.fgfffél (C)
()

The mass number of sodium is : te AUl ¥ Er|6

31 (D) Nﬁ% 23 (8) 19 (A)

| The oxidation number of hyd;@iﬁ?}}/is: ;2 A RLTK GFusy L HCL|T
2 w2 ©) -1 (B) +1 (A
The third period contains elements : D e L rey g ey |
2 (D) 8 (C) 18 (B) 32 (A
The P subshell has : e L}:j’ ._,E - P‘ 9
Two orbitals T (B) Oneorbital  J%TL (A)
Four orbitals &JL& (D) Three orbitals fu‘.: (C)
The fastest diffuses gas is : P u‘[ Uy st 5 K e 10
Chlorine c{;)‘ (D) Fluorine d_.uﬁ (C) Helium (’-J&‘ (B) Hydrogen cf-ulj} (A)
Single covalent bond formation involves electrons : U % o 02k 2L eobyy Jt" 1
8 (D) 6 (C) 4 (8) 2
Air is an example of solution : . Je J JJ" |12

Solid in gas J;{)‘.'u‘:-r (B) Liquid in gas L,Luﬁu’! (A)
Gas in liquid u’{)ﬁél (D) - Gasin gas ;/‘-rgjiu‘-"r (C)
113-023-1-(Objective Type)-36250  (5483)
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Paper :I (Essay Type). (e S1) Graasla) I 34
Time Allowed : 1.45 hours 21450 S
Maximum Marks : 48 ( PART-1 J5' ) 48 : AF

10 2. Write short answers to any Five (5) questions : . ol =R /ﬁ L =iy (5) ‘& = I.y -2
(i) Define Avogadro's Number. -4-’,': ...g; J / Juf-ﬁgi (i)
(ii) What is meant by mole? e iy V< Jr (i)
(iii) Differentiate between shell and subshell. E Uk L L LG
(iv) Write electronic configuration of argon. (Ar =18) (Ar=18). 2 u‘:’,ﬁf S NETAR)
(v) Write the trend of shielding effect in period and group.- 22 s 2 _,'.J s La € wBu 182 (v)
(vi) Define electronegativity. & 7§ 54559 i)
(vii) Why atomic number is a more fundamental < u[ .:.:‘:"’:d{l_}.ny.:.kdﬁul._f Bl /J e (vii)
property than atomic mass?
(viii) Write names of elements of first period. & rt L oL is E' (viii)
10 3. Write short answers to any Five (5) questions : o A 4 /9 L =Ulr(5) &k = Jf -3
(i) Why do atoms react? s S 2w ud L AT A ()
(i) Define chemical bond. 7 A ES )
(iii) Write name of different types of chemical bond. o Lo GBS s KD G
(iv) What s diffusion? Explain with an example. & yg Jo S e U widS (iv)
(v) Define standard atmospheric pressure. 07 U iy £ SI(QE 57 § 2y SZ¥ L (v)
What are its units? ’,
(vi) What is difference between dilute solution and W cf's“‘ 2 }?"( Tl gx’l”}’ o4 (i)
concentrated solution? - E
(vii) Define unsaturated solution. @ -é: oy J 7 B £l (vii)
% & Je L o o i)

(viii) Give an example for "Gas in Solid” soluﬁqn/(f:i}

10 4. Write short answers to any FIVE estions : By () L 4

2,3
2,2
5

4
1,4

4

s and & ./f O oen £ A u"i Lot o J"‘ L (@)

(i) Write difference between spo:
non-spontaneous reactio

(ii) Define non-electrolytes & example. "3 Jo sl _é' ..gf." J u.‘;h}g' gt (i)
(iii) Define corrosion. , & 7§ un/ i
(iv) What do you mean by galvanizing? Write its advantages. -g:’}ﬁ’l}.iul S‘?:ygfc__.fit':':r (iv)
(V) Write two physical properties of metals. EFerE sl W
(Vi) Whatis the trend of electropesiiivity in group? & af e 2 oo/ ¥ G (i)
(vil) Why platinum is used for jewellery making? = bl U Ji= vl {fed £ Lk (vi
(viii) Write reaction of fluorine with water. >y {i uf“: I, AL L gL¥ of 2#* (viii)
( PART =Ml (2 =)
Note : Attempt any TWO questions. . o O 4 L =iy »e (If Y
5. (a) Calculate the number of moles and number of molecules -éfs"ﬁlﬁtﬁgglm}hﬁ d&f'f 8 ()5
present in 6 grams of water. 5 ‘ .
(b) Write any two results of Ruther Ford's -é‘.ﬂ' é[}»ﬂfuﬂ @::;Jfﬂ{_ /.‘é: Jit_f Ri3ss ()

experiment and two defects of Ruther Ford's atomic model.
6. (a) Whatis an ionic bond?-g5 o LSV & 2 B¢ TulnL o iy Sl pe 3L T () 6
Discuss the formation of ionic bond between sodium and chlorine atom. . )
(b) Differentiate between crystaline and amorphous solids. ~&=. EvdAL AL v (L)
7. (a) What is galvanic cell? Write four -a‘ﬂj);t,‘ﬁ&d-’-{ 1 B2 te ' J F W (.7
differences between electrolytic and galvanic cell.

(b) Define solubility. Describe effect of temperature _éwyb;ébs’r!f-/;; ?.r:_.x!/'g’:.&k)’r ()
on solubility.

113-023-1-(Essay Type)-145000
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CHEMISTRY (ViF ) - Jiies) - 023 . 8 AaansS
Q. Paper : I (Objective Type) PAPER CODE = 5482 CGAS»” )1 2 ppdr
Time Allowed : 15 Minutes (._r’/’/») < 15: ‘f:”
Maximum Marks : 12 12: /«f

L WL N - g,tg,‘!;‘:é:‘i_)&VLle[{Q(dli -(j_a.éﬂ:_)o s CcB« A;,;l,‘f;,ﬁ’bédlyﬁ O
-(.'.'n‘.‘bk'....':’.‘n:&gf.;u‘\fd‘_/‘é Jo¥ VS wii e A -Z:ZJ/GQ;L/;UC/"JJU’&W

Note - Four possible answers A, B, C and D to each question are given. The choice which you
think 1s correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The compound that is a heteroatomic molecule : = LJZ-O Ll bz J.'/’ 7% ﬂ,f 1-1
1, o 9% (© H,0, (8) Ct, (A
The number of subshells in N shell is - te s b( ¥ -— U~ J'j N|2
Four ,& (D) Three £ (C) Two » (B) One .9 (A)
The element that has highest electronegativity : = 2 Yy (:f.’?'-C’/‘g loli e |3
lodine ¢/3¢¥ T (D) Fluorine ¢/ s (C) Bromine (<12 (B) Chlorine ¢/ p1 (A)
A bond formed between two non-metals is - D kLU E s & gt |4
Coordinate covalent wokss/ls 3,7y (B) Covalent ks @
Metallic A (D) lonic £F(C)
Identify the compound which is not soluble in water : 3 t%g?}’ U d& 3 l;r [ uf = (& J_’ 3|5
CeHg (D) NaCl  (C) %@ KBr (B) MgCt, (A)
The number of moles which are equivalent to 8 02: Y Lo L V! ﬂf 8L o, |6
0.24 (D) 0.21) & 0.18 (B) 0.15 (A)
Vapour pressure of water in mmHg at Ts/ e b U2 mmHg -7 y2h 1 d& £ 80°C |7
355.1 (D) &\\(}@;ﬁ ©) 55.3 (B) 17.5 (A)
Which one of the following is heterogeneous mixture : re ;,'( J::i Y% u[ = U J_ 3t |8
Alcohol in water J’JU-‘-'% (B) Salt solution B Y (A)
Sugar solution ¥ (D) Milk of magnesia ?!@JTJ (C)
Molarity is the number of moles of solute dissolved in: : éf J J' e < 31 0 J I L 2y G_’_ /Jr 9
1dm>of solution % 1.dm® ﬁgfx” (B) One kg of solution ufrlf:(gﬁu":" (A)
1dm® of solvent U2 1dm® Lozl (D) 100 g of solvent gﬂ(lf 100L 2 JL (C)
In the redox reaction between Zn and ‘< Lot g j g Tulmﬁ‘f‘: ld/‘/(lézuy/;ﬁi/.l.fub;/}f}ul.fi 10
HCI, the oxidizing agent is :
¢t (D) H* (C) H, (B) Zn (A)
Oxidation number of all elements in the free state is e / ﬁl_p’/ T iy (VL e T (11
+3 (D) -1 (C) Zero 3 (B) +1 (A)
Which one of the following non-metal is lustrous : fe iz J"-' wt b u[ P 4 J_’ i ln|12
Sulphur /l’ (D) Phosphorus (J2#-6 (C) Carbon (%8 (B) lodine ¢/ 3£ T (A)

114-023-li-(Objective Type)-27500  (5482)
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Time Alowed 1 45 hours

Marmum Marks 48 { PART -1

=1 g4
& 145 2o

i ) 48 - --' ¥
10 2. Write short answers to any Five (5) questions: o -yit/"'a_ =y (5) SL = J, -2
(1) Defre noustral cremstry and anayica! chemustry -é-ﬁ ’...“u "'ﬁ. * ‘/ w. A& 0)
() Explan why hydrogen and oxygEn -é.).a- 4...'.».,:;-.‘:...; —— ,_" T‘s‘;’-_}g. (i)

82 conscersd 28 eloments. whereas walsr a5 3 compound’?

(1) Wirte o propenies of neutron E o ..,: oL ()
P - i -

(/) How mary maumum electrons czn be cr/',':' e A K LM N (v)
accommodated in K L M. N shelis?

(v) Wrat & the trend of ionzation energy in penod and r,r" e VLS e RN LEBEARIET (V)

‘. - -, A .

(vi) Defne eiectronegatvty ‘ernic orrts ‘,é"’/" el CE W M-I Sy 1| =5, 5 (v)

Wrich one halogen has highest eiewcnegam oy value?

(Vi) Wrte names of elements of first penod. 2l i L & (vi)

(Vi) Wirte cown te name of siements of group-!. (2 two ) (s )-"-e-.»——-—.—‘-:'va- s (\' )

10 3. Write short answers to any Five (5) questions:  : & = =y /‘" L =iy (5) ég =d 3

(i) Define duplet and octet ruie £ .,9, ."}' Tt (1)

(i) Why ice fozts over water? 2 -,’ .,, (i)
(i) Define metzlic bond. @t 2y e (i)
(iv) Whahsmeaﬂbystandddatmosphemp'essve" e // -,é'fl sa (iv)
(v) Define dynamic equiibrium {:’\{}% - .&/’ J -'Jl'_afr’) (v)
(iv) What is dffusion? Explainwmanexample. s &2 ) :. v .ng‘- (w1)
(Vi) How molar solution is prepared? etey cl 'r 2 (wii)
(vii) Why are colicids quit stable? @ '.‘.,g P z £ PO B NN o (wviii)

10 4. Write short answers to any Five
(i) Define oxidation number.

tions: & =yz & L i (5) &5 edf -a
&£ WF S AR )
(if) Whnat is meant by electrdy e > /-,/U, (ii)
(iif) What are weak eleciitiytes? Give at least one exampie . 225 L I 4"'/"6-u 1,,-»«!,,, (i)
(iv) Define rusting. Write its important condition. e\ s (‘1_{ & 8 E L w)
(v) What do you mean by 22 carat gold? e V¥ vl 22 (v)
(V1) Write down chemical reaction of Mg with 05 and v, L&l 7510 /xv‘_,v,,,.o f petin ()
(vii) What is the trend of electropositivity ina group znd a period 2% L,v'i .(ngm/*",.,,,,m ...,/.u (vii)

(viii) Write any two physical characteristics of metals. -£ .,L:r" "* »y gf 7 (vil)
('PART-II' 0
Note : Attempt any TWO questions. -4 ...[.li L ety » = Jf oY
5 5 (a) Lstfive dfferences between compound and mixture. -2.'..//.4/ vlvwx. ﬁ!'}rv‘ (1) .5
4 (b) Describe four properties of canal rays. -:’f Uk ...uy" e /, ()
5 6. (a) Descrbe types of covalent bonds. -é =l J P ,;’ By < C () .6
4 (b) Define evaporation Explain factors éf.)w “L/J/’.ﬂ.ﬁ'f s /ec..., ‘r;' ()
affect-ng evaporahon

gJ/JJu.,Lw U3 zrbmc (NaOH) 3 T3\ Asrsi i 3w 7
4,1 7 (a) How can we prepare sodium hydroxide (NaOH) on commercial scale? Discuss ts charm: siry
along with diagram P) 2
22 (D) What s saturated solution and how it is prepared? "< b ,, P av.,'r"“". § (-
114-023-0-(Essay Type)-110000
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L IR s u.‘.'u:/’l)zc’r;&.VLJlr/:{Qﬁ}lﬁ ~SEE D st CcBe Aag'ﬁ;&/.l.gdidlr/; t
_fx/r‘jw.__,b?uﬁu::u!"u(i./q yo's L L//:)/uﬁb ml) e A _zf:)/f;ufg/ﬁtfu’uw&{w

Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Heterogeneous mixture is : e /;{ g y 2| 1-1
Sugar solution #-/* (D) Milk of magnesia €37 (C) Ink GL (B) Milk 223 (A)

Sodium chloride has melting point about : D e b LENY L ¥ Jfb)(éir 2
1000 °C (D) 800 °C () 1413 °C (B) 450 °C (A)
Electronegativity of fluorine is : P e & }-C:}’?f d/ q»ﬁ 3
40 O 3.2 (C) 3.0 B) (7 (A
The mass of one molecule of water is : OCQ) 1 JA L L Jg 4
18 kg (D) 18 mg (C) A%@@%) 18 amu (A)
Oxidation number of hydrogen in HC/ is : %@ e AT Ky UL HCIS
2 (D) 0 _go@ -1.(B) +1 (A)
A good example of homogeneous mi O@: P& Jo u‘f”l J ﬁ( v |6
Ice cream f-f/uj 7 Wood 4 (C) Rock wiz (B) Soil ¢* (A)

In the redox reaction betweeiZn and HCI, '« 4! LT U SIS S S HC st 5|7
the oxidizing agent is :

Fe y’7 (D) ce~ g () H* Ty (B) Zinc <5 (A)
Size of sodium atom is : e b ¥ I8
186 Pm (D) 185 Pm (C) 162 Pm (B) 160 Pm (A)
The isotope C-12 is present in abundance of : fe S J Cc-12 7:’/7 9
A4 97.6 % (D) +% 99.7 % (C) 2 96.6% (B) 498.9% (A)
Vapour pressure of water in mm Hg at 20 °C s : e b R mmHg fy g ¥ dg ¢ 20°C|10
149.4 (D) 55.3 (C) 17.5 (B) 4.58 (A)
Chlorine atom has electrons in the valance shell : g 4 u!}?l e Jf u‘"‘*’; & f:' epr( 11
7 (D) 5 (C) 2 (B) 1 (A)
The equation of Boyle's law is : e il 8 o0 Sy (12
T Vv
~% =k (D) = =k (© P=Vt (B) PV =k (A)

113-022-I-(Objective Type)-36250 (5483)
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. Yo R_WP_6 "’A (@407)) (.3:/* -
a8 4 F o dibe B asied
10=5x2 By oL e (e ST 2
Eidite b ey il ge Jolha AL i Ly SO SR IAT
—e U T ikl i S Gt VARSI T bl R A e e v St et el F i i

Ve bl ALt S i ¢ o UL B ANRAF L b il

10=5x%2 a&f‘z}ﬁwkm/?%rt;zlégg:.-(if.f,uquszw 3
L U f e Uik G i S e Ui -4‘%.&&1;@}[&@1@}&@ § LA

C UEASEIIES v ey Gl v B LSS iy

oy BISA i e 1 L2 v

10=6x2 | e LR e e i 5 4

d‘ﬂ::_g{,mra‘-'q;";f& A il oLl U Te % Vi i L Sud e Sl

eSS e B i T Koy v L G b
Bl L O il S eSO LI i

_ (222 @
18=2x9 _,;_,/.{2 Wee (et titn o
_E 0 MLk (L) O RS R W PRI ) I
AP Y W VI G =N 1 - PTY ) & AIUIOG U Sl () 6
-c;_//c,g»w(;ﬁuwdﬁ A -2, SO0, B P8 S A0 (L 7

General Science (Essay Typey\(For all sessions)
Time: 1:45 Hours O
Section-1

1t from the following. Gx2=1G
en physical and bio  ii. Define radical with ane example.

»
o
o3

Teial Mailks: 40

2- Write short answers of an
i. How can you differenti
chemistiy ?

iii.  Whatis monoalomicwnolecule? give one example.  iv, Which are two observations of Ruther's Ford atemic

i model
v.  Which isolopes use as a fracer in medicine ? vi.  Whatis Newlands octaves law ?
vii.  Why along the periods ionizalion energy increases 7 viii. ~ Why atomic size increase in groups.
3- Write-short answers of any five part from the following, ' 5x2=10
i Define a chemical bond, write the names of any iwa  i. What is Qctat rule ?
lypes of bond.
iii.  Whaltis a covalent bond? Nams its three lypes. iv.  State Boyle's law ?
v.  Write effect of intermolecular forces on evaporalion.  vi.  Whalisdynamic equilibrium ?
vii.  Write two uses of calcium. viii.  Write any four physical properties of metals.
4- Write short answers of any five part from the following, 5x2=10
i Why colloids show tyndall effect ? ii. What do you mean by the term % Vi ? Give an
example.
iii.  Define molerity and wrile its unit. iv. Differentiale belween dilute and concentraled
solution.
V. Find out the oxidation number of "cl" in Kclog vi. What is meant by galvanizing? How is il cairied
out ?
vil.  Why oxygen is necessary for rusting ? viii. What are waezk eleclrolytes? give an exarnple.
Section-II
Note: Answer any two questions from the following. 279=18

5. (a) Cmpare the Ruther Ford and Bohr's alomic theories.
(b) Write down any four diffferences between a compound and a mixlure.
6. (a) Differentiate belween polar and non polar covalent bond along with examples.
{b) Define vapour pressure? explain various factors effecting it.
7. (a) Define electrolysis. Explain electrolytic refining of copper along with diagram.
_ (b} Write any four important physical properties of metals.
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Z N2 ern o Lﬂu:/’bgé_)&ld:d'f/:{(é((éb? -ujéZéJD s CB« Ao@b’.&@kéd‘rﬁ oy
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The mass of one molecule of water is : e b LK d{gl. S L dg 14
18 kg (D) 18 mg (C) 18 g (B) 18 amu (A)
Which one of the following molecule is not tri-atomic = : < & J# Sl U = Ut it |2
0, (D) 0; (C) H, (B) H,0 (A
When U-235 breaks up, it produces : g lnlg e U1 P e BF 23500y 2|3
Potassium ﬁ.: ty (D) Neutrons 7./% (C) Protons '/'i;{ (B) G«\\Electrons 7’3}?1 (A)
Mendeleev's periodic table was based upon the : J J‘ -«Gﬁ/j L e |4

Atomic mass UL L¥ (B) Eleg@%nﬁgurauon A (A
Completion of sub-shell th‘( KJ?_/ (D) d@ Atomic number /‘J ¢ (C)
:c‘_md’ypfcgy&,/i/dzngzs

How many covalent bonds do N, molecule b

Five ég (D) Four (@\\ {C) Three g,f (B) Two 2 (A)
What is the melting point of sodi \loride - P v Ly L ¥ jgu)/ “iv |6
1502°C (D) Q}{%ﬁ; (C) 1010°C _(B) 800°C (A)
At what temperature the volume of a gas will be zero : YD (fb ¥ ;,f{/ £ jy;‘b ‘// 7
-273°C (D) 73k (C) 173 k (B) 273 k (A)
Which one is crystalline solid : e ¥ g L5 ol |8
Rubber % (D) Plastic &4 (C) Gasu? (B)  Diamond 2415 (A)

If 10em® of alcohol is dissolved in 100 gm: & ¢k - 7 b & f F9 10em® 2 3y 1./ 100 ]9
of water, it is called :

%/ (D) %% () %" ® %A

The oxidation number of sulphur in 550, is : e b AR B 28 10
+4 (D) +7 (C) " +6 (B) +3 (A)

The example of non-electrolyte is : fe Jé d/ _*/’U;/"?! wbl11

NaCl i15E3y (D) NaOH xS Tw¥\Esy (C)  Acefic acid 42/_64 (B) Benzene ¢/ % (A)

Which one of the following is lightest metal : ten gl s ‘ﬁ J’: g u/ e U J_’:’Zw: 12

Sodium a3sw (D)  Lithium axeiad (C)  Magnesium apis$oa (B)  Calcium axiilsS” (A)
114-022-1I-(Objective Type)-27500 (5482)
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10 2. Write short answers to any Five (5) questions: a." A 4 /"' L =y (5) ét = J:( -

(i) Differentiate between organic and inorganic chemistry. -i Uk 3 U d/ LT sl .ﬁf/! (i)
(ii) Define physical and nuclear chemistry. -éf _.g//" J d//ﬁ( /:K:: 81 gﬁ/ (i)
(iii) Which gases are present abundant in air? -é{frtﬁ/g(ﬂ}/ ?ugdmzmgjutm/-'fuuf (iii)

Write any four names.

(iv) How was it proved that whole mass of an atom is e b 2 LS UA/K(‘;L(L%:/ b"c‘.( (iv)
located in its centre?

(v) How anode rays are formed from the gas ou‘d(o(}lrf.{/ //bec;,g/";iy‘u" ur(//(f:fé o2oloy (V)
present in the discharge tube?

(vi) How Newlands arranged the elements? b o7 4/ PR SRR K. (vi)
(vii) Define atomic radius. What are Sl units of atomic radius?-é{(f_‘)g SIZy U;'g‘f; ...y/UJA:JJ e1 (vii)
(viii) What are transition metals? e olp U e MR (vill)

10 3. Write short answers to any Five (5) questions: ol o /"? L ety (5) ét & J:( -3

hod 3 TV S TE (i)
(ii) Define intermolecular forces and give an example @_i:dwﬂ é - /’J /u’/ LA (i)
(ilf) Write two differences between polar and non-polar&é@ds. _é U/»ui'u: téf/'_;'ut 2! /{j (i)
(iv) Convert units 750°C to K and 100 K to °C . - 100 K sl K 750°C &5 f ey (iv)
(v) State Charles's law Q;é -_é Jbe U Lf‘JLP (v)
(vi) What is the difference between eva nd condensation? “4.&/'Lf'/u* ‘f“') yiff :’f “syegl (Vi)

ies of metals. & Lar" du’ (1 J /W (vii)

(i) How coordinate covalent bond is formed in NH 4+ ion?

(vii) Write any two important chemi

(viil) What are the two uses of ? -&V e e L (‘1}' (viii)
10 4. Write short answers ny Five (5) questions: .ol O 4 /"' L ey (5) ég & J/
(i) Differentiate between solute and solvent. -gf! Uk G K 2l sl ey (i)
(i) What is the % mass / mass? fe Y % u’l./u’l. (i)
(iii) What are colioid solution? s v S o K (iii)
(iv) How saturated solution become super saturated solution? "Lt'rJ yd/u' J}“ Y Y J}’»./f (iv)
(v) Define oxidation reaction. -_.é ._g/’ d/ U'{ I8 o 2T (V)
(vi) Which are strong electrolytes? Sut st u;( ;%U;f'gl P (vi)
(Vi) What is the basic function of salt bridge? fe s (6 G ¥ s b (vid)
(viii) What is alloying? e U S (viii)
( PART-II =) ‘
Note : Attempt any TWO questions. O 4 L ey e Jf O

-4

5 5. (a) Write down any five properties of Cathode rays. -é c;«‘_Ln" é,@_ $ Jf g zJ Wl (L) 5

4 (b) Write a note on any four branches of Chemistry. P £ urt ' d:( L/( dff/ (&)

2,3 6. (a) Explain hydrogen bonding with respect -__‘é@D;Jffcggfuifchliéyj}/{gLﬁ! () -6

to intermolecular forces. ..
2,2 (b) Describe experimental verification of Charles's law. -g= J44 37 § wit L ‘ﬁk’ ()

2,3 7. (a) Define oxidation state. _éx’}ufctjféﬂﬁd//ﬁi_ff -g":/._e/‘."d/.:«."ﬁfgff () .7

Write any three rules for assigning oxidation number.
22 (b) Write four physical properties of metals and non-metals. & a&:r"d-b/.t’gp(ﬂfutm# (<)

114-022-li-(Essay Type)-110000
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L iz e e Jrsibd Loz W vy 6017 L ED 51 CBA Ly 2
.Vrn"hkuliuﬁu”uuﬁf&,// Jo¥ L d,///i/w/buhc...f Z)/c_u't/'/l.:(/b,oh/dl&/

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that questron

The number of grams of solute dissolved in adﬂf % st fUb T+ 100 cm i/wfuu”/lfrfur‘r %
100 em” of the solution is called % :
m/m (D) m/v (C) viv (B) vim (A)
The electrons that pair up to form a chemical : ugz,mﬂrgz_u;/‘zﬁgg’,éz;u}cgd?fz '/';}gl < l|2
bond are called :
Lone pair % ¢ (D) Bond pair 4| (C) Anions Jl'/,l (B) Cations o (A)

This metal is used to make jewelry items because of ‘Ltlggdvplufd/ﬁc,gsd/oyr";)’fﬁu’l 3
its unique characteristics :

Lead & (D) Platinum ffl}: (©) Sodium £3» (B) Zinc £J (A)
For the mass number, we use symbol : g S Je K < L L A4
A (D) n (C) P (B) z (A©

The apparent charge assigned to an atom of an LchJb:.u lL(fLJ!u’(iru*J,ﬁL 5
element in a molecule or in an ion is called :
Oxidation number 24" T (B) C%& gativity d pegle] (A)
i

Bond k| (D) ization potential J"?u’ 767 (C)
He is considered the father of nuclear smen P b u’ ..,L ¥ u"v /:{ / .;T 6
Dalton J‘Jﬁ (D) Newton /% (CQ\ A Bohr 74 (B) Rutherford 3050 (A)

The loss of electrons by an atom or,

during c.rMLrLJbK/;/G'c_,u’lL(' u/u”Jf’dJJQ/J( 7
a chemical reaction is termed asft

Electricity §>*1 (D) El sis /Us/91 (C) Reduction JZJ (B) Oxidation ¢4 T (A)

Along the period, which one of the following decreases : g_gn(:lﬂfc‘.dufqtgx ’g:,u: /bui',é 418
from right to left :
lonization energy &/~ 7t# T (B) Atomic radius =ikt (A)
Electronegativity (£ ;‘g)}gl (D) Electron affinity i1 (C)
Elements of group 13 to 18 have their : gjjz...lgf_:t‘u:ﬁ.,/'/)/bg'ﬂ5£ M\LJ18¢13&;}/% 9

valence electrons in subshell :

f(D) d (C) p (B) s (A)
The scale of temperature in Kelvin scale starts from (°C) : .f_tn&:/“c_, (°C) ]}/:UIJ:‘; u).{( 10
-273° (D) 273° (C) ~100° (B) 100° (A)

The chemical bond by mutual sharing of their : g.mch.f&c.ﬂ;ﬁldﬂéiﬁ}gfifﬂmﬂﬂ 11
valence shell electrons is called :
Co-ordinate 257 (D) Metallic & (C)  Covalent 24 (B) lonic £¥ T (A

The proportion of a solute in a solution is called : T bM b ¥ iy u’ u’& 12

Solubility f “Jy (D) Molarity & A# (C) Concentration ;/ // Percentage C‘/f (A)
113-021 -I-(Objective Type)-36500 (5483)




(12020-2022 £ 2017-2019 5" N L5 il =

CHEMISTRY (U ) 021 5 e
Paper :I (Essay Type) ( _,;/u.; ) (5 awlasD I oy
Time Allowed : 1.45 hours 2.Gl21 145 s
Maximum Marks : 48 ("PART -1 Uit .») 48 : A4S
10 2. Write short answers to any Five (5) questions : b A4 /‘7’ L = Ul (5) é,l,. & Jf -2
(i) Writesdown the empirical formula of glucose and silica. -ﬁ/ U lé J{’.A{" § €h sl )ﬁ (i)

(i) Define mole and give example. w22 J& sl "é ...g)/." J Jr (iiy

(iii) Define element. Write the name of element -g’(tb@»ﬁlc’.bd‘,(y&guﬁa’bdt -5y S M (i)
that occurs in liquid state. ’ ,(f .

(iv) How nucleus was discovered by Rutherford? o =3 < JEL L i (iv)

(v) Define electronic configuration. ..gf’_: -y Jv-u..:)iu.\f 1201 (v)
(vi) State modern periodic law. Who put forward this law? "y/gf:"é_g/, ~_i;-/ Wk £l .f;‘&,g.- o5k (vi)
(vii) Write the trend of shielding effect in the periodic table. &b (i) k,’(ﬁ#l“fﬂrfuﬁj’:.fjgg (vii)
(viii) Why elements of group 1st and 2nd e V(gtgfu[u@y.g\bflé 'S' ;Q.\LJJ__A i.;,:/;_/:wl% (viii)

are called 'S' block elements?

10 3. Write short answers to any Five (5) questions : ol <A UR /"" Z Uy (5) ég F Jf -3
(i) Write down the name of four types of chemical bonds. __.&ff 27 rh L "L:’l e f JE| J'(z‘{ (i)

(ii) Differentiate between donor and accepter in coordinate ‘e o/ Yor /‘,«“‘(bﬂ/';fui' ,ﬁg.w&;f_*g:;’; 74 (ii)
covalent bond.

(i) How is polar covalent bond formed? ) C* d: kY 2oksy 2y (iii)
(iv) How does intermolecular forces affect the evaporation S deilel “%_}»f:{’ ’J ! f/:’/’{g LA (iv)

of a liquid? . R
(V) How does temperature affect vapour pressure of a liquid?, _°: @U'ﬂ{'ld:{/f‘é{/;.: ol ﬁ-/:f (v)
(vi) What is difference between saturated and unsaturated 4@39 fe u/g@:u'kj}.ug’uwiwg’ (vi)
Vii) What is meant by volume/mass % (v/m%)? e e (%v/m Jl./::": i (Vii)
¢ Sk — & r CL:-U-N)J
viii) How can you distinguish between solution and-apuj !iquid?ﬁ'gv&/é&ﬁJ T sl dLu‘JB (viii
et et
10 4. Write short answers to any FIVE (5) ons : el ety (5) 6y e O 4
(i) What do you mean by oxidizing a v&'an example. -2y JB(i ?‘LJI/V:’;%IJ'/I’%“(T (i)
(i) What do you mean by rust? Wii equation. -Zﬁd sl v( J1 S sl y/ = L (ii)
(iii) Define oxidation number. _u‘df_: - d/ / QE&/‘/T (i)
reaction? Give an example. &= (JeA (]l ?a.)'/'gc.u:g!d/‘j/’é/ (iv)

(iv) What do you mean by re

(v) Name four moderately reactive metals. -‘ﬁv/ ct LM U I8, J Bt s /..lg (V)

(Vi) Give the trend of electropositivity in a group and a period. e LB % J{"’/"‘?Uféfuﬂ__.d‘/ (vi)

(vil) Write any two uses of piatinum. & o gy J/ L (:!4; (vii)

(viii) What do you mean by non-metals? S sl l..;-/ < &t (viii)
( PART-II' w2 )

Note : Attempt any TWO questions. | _4 = i Loy s = J:( P

5 5. (a) Wirite down any five differences between_g-;({/g}/'égc.qu:d»:.‘;i.ft"ucf::,’uldnf;.ﬂ”gf}/}/u () .5
Rutherford's atomic theory and Bohr's atomic theory. -
4 (b) Explain compound and give its classification. __é/ =l J ,’U"' J/ ! s i-fgf (..,\)
6. (a) Define di-pole di-pole interaction and -héyw:d/u’litqf.dt‘m' S{E/.éj/”.ufuiiﬁ'd.wu‘ 'J{’d’,: () -6
explain it with an example. ) ’
4 (b) Explain that evaporation is a continuous | Ubé_/r!é;.f;fﬁ’uk)’vuﬂcfizg,ﬂféyLb) (_,)
and cooling process.
e 8] . I A e &
5 7. (a) Define electroplating and explain the electropiating -;{ug v@'ﬁfff’uf% g i P8 ._,6_._4,;,/-_51 (&) .7
of chromium.
4 8y NaOH Bl L2 LE 500 em® F& 0.4M 6 (NaOH) ST (L)
(b) How much NaOH is required to prepare its 500 cmBof 0.4M solution.

113-021-1-(Essay Type)-146000
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Lb_&b?:p//)c’_—J:u;f‘JZZé—J&VLJ’)’/:/_:QK(}'ﬁ -ujé’ié)D »# C'BA :al,‘i.}@?:ﬁd'r/: p ey
_gﬂ/r“jw_.ﬂﬁuﬁu:a// d,///;i Jo¥ " i‘—/(/:)(u)//bb)&/‘&srg ..g’:/f;:uf:&/ﬂ[:://b:&“/awf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one of the following is not a triatomic molecule : : cL,JfJggLJC’IGV"Vu;Q;JJJ@J;
CO, (D) H,0 (C) O3 (B) H, (A)

1-1

Which one of the following shell consists of one subshell : g—ﬂfq_gﬁvac,uﬁdjjbu
Nshell JEN (D) Mshell 5 M (C)  Lshel [FL@®  Kshell L K (A)

Coordinate covalent wks/l s W (D) Metallic A& (C)

Along the period which one of the fo!lowing decreases: :‘a&n ﬂ/ zY uf e Y A VQ 3
Electron affinity ¢¥ius <1 (B) Atomic radius Sha Kt (A)
Electronegativity (5, Z‘:-?,;Q; (D) lonization energy SHF7ET (C)

Long form of periodic table consists of : re by ."b ..,(5&/:7 T (/8 £v|4

18 periods /74,4 18 (D) 10 periods /i1 10 (C) 7 periods Lis & periods 4z 8 (A)

Bond formed between two non-metals is expected to beO' £ 7 Y & G L Mt »|5

Covalent 24sd (B) @ lonic  E¥T (A)

[/ s
A bond pair in covalent molecules usually @> P G, U bl oagy ﬂ;;?L wokss
One electron g3 2901 (A)

..

Three electrons >3/ B)

Four electro 52 (D) Two electrons 7521 (C)
R = /
The equation of Boyle's Iaw@ﬁ\) L el Tk
r 14
PV =k (D) 7~k TN | P=vt (A

Solubility is defined as Ll’r,u“:}L’iw{/ﬁjﬁ.b'f..r':’(l/:-_-4/5-;,}JGu’;‘éﬂﬁngﬂ/’/fJ;«ﬁ/Jr&k?r

number of grams of solute dissolved in---of solvent to prepare saturated solution at particular temperature :

Which metal is found in liquid state :

Mercury &/ (D) Copper 4§ (C) Iron ¢s7 (B) Silver 4 (A)

1000 g (D) 100 g (C) 100 kg (B) 100 mg (A)
The amount of NaOH required to prepare 1.0 M ; 4‘;,&}4/6;4“’.52.,&&)’1.0 M .U,&'J NaOH|9
solution is :
80g (D) 40 g (C) 30g (B) 209 (A)
The formula of rust is te Urb ¥ 110
Fe (OH); (D) Fe (OH)3,nH20 (C) Fe,04.nH,0 (B) Fe,O5 (A)
The oxidation number of chiorine in KC£O;is : : AP (el d"»KJ KCLO; |11
+4 (D) +5 (C) +6 (B) +7 (A)
e Qe dL vt e GV B oS (12

114-021-1I-(Objective Type)-28000 (5482)
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10 2. Write short answers to any Five (5) questions: - O 4 /"f L ey (5) ét & Jf -2

(i) Differentiate between atomic number and mass number. -"I J/ s Z / Jb ol / JW (i)
(ii) What is the difference between physical and -ixfdvvﬂfb{/ *’c_u/tfu‘uu/&wnd* (i)

chemical properties? Give an example of each.

(iii) Why ionic compounds have high melting and (‘U‘Lrut/ufff/vﬁ'b’/ﬂua&:/,u LJ/J/ T (iii)
boiling points?

(iv) Write down electronic configuration of aluminium -ggfﬁﬂ.f}ﬁlﬁ&/ﬁsz:l}fJﬁ?}‘ (iv)

according to shells and subshells.

(v) Differentiate between shell and subshell with examples. -Z./ u}u" J" JJ;’J’ v l/J:u)’V (v)
(vi) Describe the trend of electronegativity in periodic table. -é/fd?zg ,42/0 e J" ..f:L bz (vi)
(vii) Define ionization energy. -é J/‘ J RS ATANCD)
(viii) Write two features of long form of periodic table. -é/fuu}“’("l»(}[&wum/.’ !erJlJ viii)
10 3. Write short answers to any Five (5) questions: : é ..4’! /‘" L ey (5) ét & Jf -3
(i) Define octet rule and duplet rule. _éf ....v/" u( Ju Lok s Jf (i)
(i) Define double covalent bond with one example. & e Je -7 8 xLakd S5 Gi)
(iii) What is hydrogen bonding? @ 8}’ U/ jit L/)U"E (iii)
(iv) What is absolute zero? fe l.f 3/7 2ol vt (iv)
(v) How intermolecular forces affects evaporation? (¢ dr o lu" “syedl C}’ Jf /»’ /,,CJ LA (V)

(vi) Define aqueous solution with one example. % QJ = JE’* .f J/" J J;L" f’f’ (vi)
(vii) What is percentage - mass/volume (% m/v% Z@ é f Uy *’K_Lf (% miv) fib/‘j l C‘// (vii)

Write formula also.
(viii) Define saturated and unsaturated sol -@ S .y J Res S 0l 2ssg (Vi)
10 4. Write short answers to any Fiv estions: s e iR /‘f L =i (5) éL = Jf -4
(i) Define reducing agent. v -:{ J}’ § et ...C;U-/ (i)
(ii) What is meant by rust? feolr g UV = £ (i)
(i) Define electrochemi I, _é J/" J S f‘{/ﬂ’ (iii)
(iv) What is meant by strong electrolytes? Give example. _é/ju‘i)v S Lw i u"'ﬂ;/al i (iv)
(v) Why is copper used for making electrical wires?f<- {'b L/ J u/ /K & Lyt J (v)
(vi) Define non-metals. -Z: J/ J At (vi)
)
)

(vii) What is meant by electropositivity? ‘e sl b V u’ yw’:/a I (vii
(viii) Write down the reaction of fluorine with water. -Z: // J’(ujj du’ £ L (}L ' Ju" (viii

( PART-II (% 2 )
Note : Attempt any TWO questions. - uUf Lty ne Gf 9

5. (a) Whatwere the results concluded by Rutherford in his Ve;éwét« e f2 a1 5t () -5
experiment?

4 (b) Define molecule and explain its types. -é oo J L3 J JI ! éf J/’ d/ J»ﬂt (u)

5 6. (a) Explain dipole-dipole interaction with -ZC-JVJ HC@JL@JJI/U:‘G’u J:’db () -6
example of HC/Y .

4 (b) State Boyle's law and derive its equation. -éﬂ’ul)VJJ’J)’ é_.v/’quLJu (u)

5 7. (a) Define electroplating and explain the -éub ..f:'%)/a J():)::ié":w/p(u@va' () .7

electroplating of chromium.

4 “c,t'bb-(/b{;rgf}’/y‘uf( (NaOH) /fl/’/l)uv W’)rféu?uw‘d‘gunbﬁﬂ °¢Ju/r ()

(b) What is molarity? Write its formula and explain how one molar solution of
sodium hydroxide (NaOH) is prepared?

114-021-1i-( Essay Type )-112000
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L...J:?uuc.u:u,/’béfé:éf_(ré:d!r/:{(éﬂ}li -ujéc:_JD 4 C'BA :—L’z.'«@‘(gédir/: P2y
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The number of elements in fourth period is - fe (3)': i § Shs &z 1

32 (D) 18 (C) 10 (B) 8 (A)

Which one of the following is strong electrolyte : ! .‘/U:}g P L o < ]2
Benzene ¢/ = (B) Sugar solution J‘}’b’/f' (A)
Solution of NaOH </ § NaOH (D) Solution of Ca (OH), /¢ Ca (OH ), (C)

One atm pressure is equal to how many Pascals - te by gl £ A L & A4 1atm |3
10235 (D) 10523 (C) 10325 (B),(O\ 101325 (A)

The Scientist who discovered proton : ° : 2@?/: L‘J;’{ P gf UL 09 |4

Bohr 44 (D) Goldstein ¢/ eiy (C) Thomson é/@? Chadwick Jﬁ; (A)

Which one of the following is solid in gas solution : @Z o Lo < S ull5
Fog 4/ (D) Brass J%* (C) Buﬁer&m Smoke in air I a1z (A)

periodic table :
lodine ¢/3¢T (D) Nitrogen Sulphur /1’ (B) Carbon /6 (A)

Who presented law of octaves : @ 2V PN g/l o T|7

Mendeleevi i» (D) Moseley L_Jj» (C) Newlands jiJ« (B) Dobereiner ~iss5 (A)

The non-metal which is present in group 15 of gs; w2y S 15 / .::/f z J‘ Jsg/_:. £ J% ut |6
a@i’@%@

The bond formed due to mutual sharing of electron is called : : q..bM £l Ul d. & .f'f"l UL L 520118
Coordinate &3, 7 (D) Metallic ol (C)  Covalent ok (B) lonic £¥7 (A)

Boiling point of sodium chioride is : fe by aSly By ¥ 0k E3y|9
1413 °C (D) 1213 °C (C) 1013 °C (B) 800 °C (A)
Oxidation Number of hydrogen in metal hydrides s - fe b A ST Sk S JXUI, J4110
+2 (D) 2 (C) +1 (B) -1 (A)

The element which occurs in liquid state at room temperature : : R L U L o~ =l oL £ ﬁ-/f' (2|11
Mercury d/r/ (D) Hydrogen (/5.4 (C) Sodium £3» (B) Zinc £ (A)

3 - 3
The volume in cm° of solute dissolved in : & dﬂv;(xJ’uf j'lf 100L J:L':?Jw"ugﬂ cm J(-i'i’&_w!r 12
100 grams of solution is called :

% viv (D) % vim (C) % miv (B) % m/m (A)
113-019-I-(Objective Type)-33750 (5485)
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10 2. Write short answers to any Five (5) questions: af =2 /‘? L ey (5) ég = Jf wd
(i) Define empirical formula with an example. i) JL‘:‘* 23 g _y/‘." J Uss gﬁ-/;{ I (i)
(1)) Give symbols of arsenic and silver. -& J/ § s LT (i)
(iii) Differentiate between cation and anion. -é O A Sl sl e (iii)
(iv) What do you mean by plum pudding theory? ?c"_ Ay gf & du!- o % ,‘& (iv)
(v) Define isotopes and give an example. ol Jt‘/ .{l 2/ é - /‘7 J ﬁiﬂlf (v)
(vi) Define Dobereiner's triads. -é _e'/‘." J )é'(;l/' s (vi)
(Vi) What is meant by Shielding effect? fe slp _l/ o 2L jﬂ,‘? (vii)
(viii) Why are noble gases not reactive? ?Jﬂ u.'."’ U’:( )5..( IS u:.’:f S (viii)
10 3. Write short answers to any Five (5) questions: 2 A7 4 /‘" L ey (5) 5& & Jf -3
(i) Define duplet rule and octet rule. -’q{ ..43/"" J Uo7 22T S k3o (i)
(ii) Write any two properties of ionic compounds. -2.‘;( ;f c:—_(:ar". » J;( J Jﬁl?f EET (i)
(iii) What do you mean by malleability? U & Y .,:..T = Llali (i)
(iv) Define standard atmospheric pressure. —g&:—‘f‘!g £ .g/Jﬁ{J[ﬁ' S (iv)

Also write its unit. S
(v) Convert—30 °C' to K unit. 0{& & Je Lt <y K S =30 °C (v)
(Vi) Give two examples of suspension. @% <& uf-’&"‘/ wd u"fJ (vi)
(Vi) Define aqueous solution. Also write one ex &b d‘dt”/..g ..Zf-: ..4//.” J J}’ ;/;f b (vii) !

(viii) What do you mean by volume / volume - uf Jé e ?q.;l/_bfd/.(fc. % viv  (viii)
Also give one example, )
questions: 2 ez A2 Ly (5) éj = df .4

10 4. Write short answers to any Fi

() Why O, is necessary for r . fe S Ul u’;’/l' 4’. L Jr L 'y (i)
(il) Which solution s u electrolyte in e u?L[quu,/’?t ;ﬁgf}’bufuﬁdfﬁ (i)
Nelson's cell?
(i) Define Redox reactions. -Z: uy/‘-’. J PEI ¢/ gﬁé/ (iii)
(iv) Whatis salt bridge? What is its basic function? e VK BBy Ut U sl (iv)
(V) What is meant by malleable and ductile metals? e lp l_..f e & J'%‘ 2! J'a'-"L" (v)
(vi) Write two uses of calcium. -2}: {/’ =W gy L f-._u:a.lgf (vi)
(Vi) Why is HF a weak acid? St ol S HE (i)
(viii) Write down chemical reaction of sodium with <% _4/; Vel 1 (i £ ZCly 5 Hy (viii)
H and Ct. ( PART-TI (5 2 )
Note : Attempt any TWO questions. ey Latyrne 80
5 5. (a) Write down five results of experiment of -é{fiﬁé& L, ['ZJSLJ eI 350 (W) .5
Rutherford's atomic model. X
4 (b) Define element and explain the kinds of 2% e u)k"/(u.'gf ﬁulé A ()

elements with examples.

5 6. (a) Define co-ordinate covalent -é/@.)dl‘h.ﬁc)u:&j 3! é 7 /‘.’.Ji'l_...',é:f..b;}_b W () e
bond and explain it with an example. . . /

4 (b) Write down any four typical properties of gases. -é_/j& L b (3[&_}:’-‘-r (o)

5 7. (a) Explain the manufacture of sodium metal -é uU;Jd&‘JJ’:ﬁ Sn:_fbrgﬁ-' Sré.xg‘_ (W) .7
from fused NaCl. . . .

4 (b) write any four characteristics of Colloid. -’4{ /=y ey & & (&)

113-018-I-( Essay Type )-135000
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L._ij.;/»c_ gﬂu’}béé)&bédl‘rﬁ{éﬁ}lﬁ -u_?éf:c:_)D # CB'A &E'ﬁ.’«@?&d"’/{ Oy

-{xzﬁwvﬁﬁn/ﬁ‘ﬁ:«/y‘gﬁ,& Jo¥ [} L///;fu;}buy:_ug S SN 3

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

lonization energy of sodium is fe G ST J |1 -1
496 KJ / mole (D) 419 KJ/mole (C) 403 KJ /mole (B) 377 KJ / mole (A)
Depositing of one metal over the other by means of - ‘at‘!kv(th{J%d/”:U&ug;uJ /-'{e/'gl 2

electrolysis is :
Corrosion 3./ (B) Reduction wﬂ:fy (A)
Oxidation ¢/*4/7 (D) Electroplating &4 2&1 (C)
How many times liquids are denser than gases : S L SN el V& < /-»f él. 3
/100,000 time (D) ¢ 10,000 time C),.. ¢ 1000 i 100 time (A)
Plum pudding model was put forward by 7 _‘ . %O 74 gL JS Ji jfg (‘v’ <
Dalton dﬂﬁ (D)  Goldstein Jl‘/ﬂ{, § ’ t 2y & s (B) Thomson ¥ (A)
Concentration is a ratio of : g *: . / }«.,. P e aad ‘ﬁﬂ S
Solute to solution S/ Lo/ ’ Kabiutes sy (A)
Solute to solvent (§ s :<'> (D) i ‘ P sa Jv (C)
Which one of the following is th@etal: \,\;? 4 _g{ y g “ -5’ w6
Sodium 1{5}' (D) Lithium adgiyl (C) Magnesium sl :‘" (Bfg‘; t{_ﬂl - - ( (A)
Atomic number of element was discovered by : : ) cALz g/{"/‘ .ﬂ,/ 'W L owsh|7
Crooks J;/ (D)  Thomson ¢ & (C) Newlands J4¥% (B) H. Mose\lé}LJr & (A)
Which one is a non-polar molecule : i J,’:—O ) /g Ut yf < £ |8
H, (D) 2,0 (C) NH;y (B) HCl (A)
The melting point of sodium chioride s : L LN g 218 ‘i |9
1000 °C (D) 800 °C () 750 °C (B) 600 °C (A)
Which one of the following metal is used for galvanizing : P e ax Je1 £ e F v w10
Fe (D) Cu (C) cr (B) Zn (A)
The molar mass of H,50, js - P UL M ¥ H,S0,111
z'f-:'e’ 9.8 amu (D) ('f 9.8 grams (C) ,y_'(-:';' 98 amu (B) (lf 98 grams (A)
The solubility of which one decreases by increasing temperature : 3 4;.‘3)‘-'[ &gerJf e bhaiion|12
AgNO; (D) Li, 50, (c) KNOy (B)  Ca(0H), (A)

114-019-1-(Objective Type)-26750 (5486)
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10 2. Write short answers to any Five (5) questions: 2 =2 /z’ L =y (5) ég & Jf -2
(i) Define organic chemistry. Py S d/‘—{( 5T )
(ii) Write down the name of any two elements -é’}t&wh.._ulgl »LJI/L ’:Lﬂ.‘;”&»gﬁﬂ»léu&l (ii)
which were discovered in early ages.
(iii) What is homoatomic molecule? Give an example. -l Je .._f' e bn g‘_dzg L Ly (i)
(iv) What are canal rays? Ut O _lf V7 Jos (iv)
(V) What is meant by quantum and quanta? ?:‘_ sy l_..f &= (‘U/ s €y (v)
(vi) How did Newlands arrange the elements? Ty o5/ 4:." e oabia il & Jsde (vi)
(vii) Write down the name of the elements of first period. & rt Lot £ i é‘i (vii)
(viii) What is electron affinity? Give an example. —es Je ..g e l;” sl A1 (viii)
10 3. Write short answers to any Five (5) questions: . R 4 /ﬂ L =y (5) ég = J/ -3
(i) Why a covalent bond becomes polar? fe bl U /{ X woksd <L)
(ii) Describe at least two necessary conditions for .2 L/ V‘d»/»ﬁlfjﬁ:cj__ﬁ E slasksd (i)
the formation of covalent bond.
(iii) Differentiate between lone pair and bond pair of electron. -é et “ ki sl /:vu)'ﬁ'/';}gl (i)
(iv) What do you mean by volume / volume %? i u‘ % ?‘4:'/&( d;. Tee % viv (iv)
Also give one example. o .
(v) Define the term allotropy with examples. -’é’:uﬁ’@ul 2{ .@/JQ:/‘:&' (v)
(vi) Define suspension with an example. : JC" ..{’ 23 é ..3!/7 J e (Vi)
(vii) Why water is called a universal solvent? Ut Z,‘.’./ w’../ Loy J’Jr:;_' e d& (vii)
(viii) Define true solution with an example. & d{ Jl‘,‘» 2 ’é:( i/ /‘7 J ut:l’ (i (viii)
10 4. Write short answers to any Fiv l?estions: 2 a7 A2 L =iy (5) ég e df -4
(i) What is meant by strong ele Give one example. -"{::J&vg ?‘L)l/gc_.gf"' Ib}g P (i)
(i) Why is galvanizing done? S Bb ud £ '/'t’;.':f (ii)
(iif) What is difference between valency and oxidation state? fe J} Lf L L ‘ﬂzg’ Tl (j‘.&; (iii)
(iv) Define oxidation in term of electrons? -’{:;Jt’? -é._gﬂfﬁﬂ TLL’?‘CC)%’ (iv)
Give an example.
(v) Give any two uses of sodium. -’a‘:i: {/. Jlr:" %) Jf £, ﬁSr (v)
(vi) Define Redox reaction. -5 ...g/'" J /:f 1§ J(Lg-‘,/ (vi)
(vi) What is meant by electropositive character? -2 Ji& i S sl YV e et %5y :}g‘ (vii)
Give one example.
(viii) Write the chemical reaction of -2}: ﬁlﬂc..ud’:,bl/ék.{/fuﬁg 'd;é_l_/.f uyn[,c[ J);ﬂu:’v (viii)
methane with chlorine. Give its chemical equation.
( PART-II (99 > )
Note : Attempt any TWO questions. -'J.-,pzée.mr pedf o
5 5. (a) How neutron was discovered? Write its properties.-éf_:_./f-:..yﬂ’.JJ f ?'n:).t./:d_/ul/‘:c' () -8
4 (b) Give any four differences in compound and mixture. _EE u_l_/u"/zgc_«j)fﬂ /,‘5:'25 U ()
*5 6. (a) Write down any five properties of metals. -£ :.a.t:r" é’l’, ] é:( J R () -6
4 (b) Define evaporation and it depends on ?‘a.{J }é’ugmb/d 2]] 2’: - /‘.’.Jeﬁ"Jg-z' (%)
which factors?
5 7. (@) Define corrosion and & uga.)ut}.éféig.c_uj,/ Y .4;_!/‘7(! L'ﬁ.f)»’uj:/ () -7

.

rusting. Describe any three methods for prevention of corrosion. . .
4 (b) Write down the four characteristics of colloid. EE 7 =ler? Ul 174 ()
114-019-11-( Essay type )-107000
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Note . Four possible answeé A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The example of solution of a solid solute in a solid solvent is : 1 ‘LJL’?JJPL LRy P Lu¥ |1 -1

Air i» (D)  Cheese £ (C) Brass J* (B) Fog <2 (A)

The most common example of corrosion is : : ‘;"_Jl}"(kc,_/d/ui;/ 2
Chemical decay #%.73L (B) Rusting of iron W Eiied (A)
Rusting of tin ~ ILE# (D) Rusting of aluminium bﬁéjjf(-‘?;ﬁl (C)

The boiling point of sodium chloride is : : c‘-..:wf'z ﬂ'bﬁﬁfb}gﬁ |3
1413 °C (D) 1412 °C (C) 850 °C @) 800 °C (A)

Formula of rust is : @@ : ‘LU:"/GK..?J 4
Fe, O;.nH,0O (D) Fe(OH); (C) Fe Q@@ ,O (B) FeO; (A)

Which one of the following element is found in much @@}h})&. - Frlad ..ﬁ»ﬂf"'ll/ufc,uwj s |5

abundance in earth's crust :

Argon /o7 (D) Silicon gék (Cﬁ%inium Iﬁ?’l:.ﬁ (B) Oxygen ‘yf"'(T (A)
- _
<>\g : q.gigm)£VufKaV/ 6

Which pair of compounds is soluble :

! KCl and water I (B) Ether and water SLasAr (A)
- Petrol and w, sz (D) Benzene and waterJL»! ¢ (C)
Sub-shell 'P' can have maximun:?‘mﬁmber of electrons : : u_?Z.nu'}g!uL)c;ug)uf 2 J?J 7
10 (D) 8 (C) 6 (B) 4 (A)
Which device is used to measure atmospheric pressure ! LLt‘nJL-;’U thufq,.}.ﬁ L_)/()” /’I.{J adl:
Manometer i (B) Barometer Az (A)
Galvanometer #2d1 (D) * Potometer <2 (C)
The electro-negativity of fluorine is : g ‘L.(}."c' u‘ig ﬁiaf.\.\ Py Jc{ A9
3.5 (D) 4.0 (C) 3.8 (B) 3.2 (A)
The base of modern periodic table is : . ﬁ'—ﬁk’b(«f: m&ﬁ&/‘? 10
Avogadro's number il (B) Mass number /L (A)
Quantum number /:}(“'b’/ (D) Atomic number (¥ (C)
The heaviest metal is : 3 ‘LL};:UJWG-.-/ 1
Lead 2/ (D) Osmium €% (C)  Platinum /i (B) ron w77 (A)
Methane is an example of : & Je u."; 112
Double covalent bond fcg.w‘.';fdﬂ (B) Single covalent bond fcgcﬂwf}é’ (A)
Dative covalent bond b2} (D) Triple covalent bond fcl,.».»".-.u(,;f/‘ (C)
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10 2. Write short answers to any Five (5) questions: .af =R /‘" L ey (5) ét Lo Jf -2
(i) Define nuclear chemistry. i - /"Jd/’( f‘;: (i)
(i) Differentiate between physical properties and chemical -.:‘: kAL = o du’mvw" (i)
properties.
(iii) Define symbols of elements. éJ}’JJw cf—uau.\-s_._l.‘,_ll (iii)
(iv) Expiain the treatment of cancer by radiotherapy. -é JL&)J Lwﬁ/{cqif}ju (iv)
(v) Explain the use of U-235 in power generation. . -é@b}JJWlﬁ U-235 cj_&u" =2ab (V)
(vi) Define atomic radius and give example. Z,")JVA‘ ’5( ;.y/’JJ' ALt (vi)
(vii) Why ionization energy increases from left to rightin e (5" U uf/bc,u: ’Qd)i(ﬁ'f' b TUm 2 (vii)

a period?

(viii) W?ite down the name of elements found in second period.- &5/ /‘Pté ol o2 AL g 93 (Vi)

10 3. Write short answers to any Five (5) questions: a8 =R /""" L =iy (5) ég P Jf
(i) Why do atoms react? ?ufl./@.-.( fd/u::.r LSl (i)

‘e dFund L (i)
Gt -wz_nuﬁj:fgjg 7 (il
_Lu”._)lp [ s 100 °C (i)
(V) What is diffusion in gases? Give an example. < Q?-:‘: kBT /‘U,u/ﬂ-)‘,):‘.'uf (v)
(vi) Why do we stir paints thoroughly before using? %5@ Sl U;uf L}’Lf’lfgf" éic;.dt-’l(' (vi)
(vii) What do you mean by % Volume / Volume st Ve % VIV {vii)
{viil) How wili you test whether given soluti Qolloudal"u’( Lad U/J:"U{’L)fé.d /UUC)’J T (viii)

solution or not?
(5) questions: & =yz F L oy (5) §4 < &S

10 4. Write short answers to a
(i) What are redox reaction S r[ 'd/(// 3 (i)

(i) Why does ice float on water?

(iif) lonic compounds are solids. Justify.

(iv) In which form sulphur exists at 100 °C 2 2

(i) What is meant by a reducing agent? e /Lfc....f '..f;:’n (i)

(ili) Define oxidation in terms of oxygen. Give an example. _&)JVﬂ'/_fchﬁf IJ/’JfAJ i (iii)

(iv) Calculate the oxidation number of "N" in dép""/gf' 76 "N & HNO, st AgNO, (iv)
AgNOjand HNO, |

(v) Write two applications of gold. -égﬁ:«uwl»ﬁﬂf (v)

(vi) Give occurrence of alkali metals and alkaline earth metals. -Z=s £, § A (&) kI » A d"" (vi)

(vil) Write any two chemical properties of non-metais. Zf/ f:.« Loy’ JL"’/»J éfJx’y Wt (vii)

(vili) What is trend of electropositive character of metals "z.. Jut?/ufu /ulJ' Jf K/f/.mi;/diéﬂf (viii)
in groups and periods?
( PART-1II (2 )

Note : Attempt any TWO questions. ez £ ety ne 3 :nd
5 . (@) Write five properties of cta‘st;%ie rays. -é/fuuﬂ’ éLJ el (L)
4 (b) Write four dufferences/ " molecule and molecular ion. -Ju/’/bu" B4 l)ra(. 4 u,ﬁ L (...)
5 6. (a) Write the properties of covalent compounds. .._.«Lor"d/u;uluhf (!
4 (b) What is allotropy? What are -éyu;fd/}/;;u"/f// “u‘u’u {,i:JJ' 9<:.JQ’/£' (u)

its reasons? Explain transition temperature also.
8 7. (a) Discuss electrolysis of water. "'(J/ (JMLU/)(I—J /a'edL ()
4 (b) Give the four characteristics of colloid. -Z’J..«Ln"/[ad/ / (_g)
113-018-I-( Essay Type )-129000 L2 Sr—1 @
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f_.:ﬂ:’._"//:c.._ gﬁu’);bzé-).é VZ.JIr/;,;QKQb? -u_?éé_)D s C'B'A ..“.«U.’.;@?LJJY/: Cay

-gﬂ/)jﬁ.('ﬁujﬁdojr‘b(d.—/z Jo¥ L L—//i!bs/’ba)&)c_@ eé"/fcék/ct}qa/‘:w&&f

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

In halogens which has high electro-negativity element © - baw‘ij‘lul;é: i*g/'g!ugjc.__/u-“ /‘2:’:,1 1 -1
Filuorine q/ﬁ (D) Chilorine Q»{ (C) Bromine ¢=1z (B) lodine ¢/3¢7T (A)

Ice fioats on water because : ¥ s c‘..,?ﬁu(i./f{_dgg;d): 2
Ice is denser than water g.i;"’f:. L}‘L'_J./. (B) Ice is amorphous in nature :;.dﬂu'}uioé VJJ/. (A)
Water molecules move more randomly ujZ./J/”c.(f‘}é_dzg LL(}L (C)

Water is denser than ice ;LJ;{&J/.'()& (D)

The bond formed between two non-metals is expected to be © i;.t'nfcg.-fl.lbé__uyné k|3
Covalent bond kleskd (B) Metallic bond L0tz (A)
Coordinate covalent bond ch..u&:f:‘_lzbff (D) lonic\bond s E¥FT (C)

One atmospheric pressure is equal to Pascals : %ﬁ%uﬁf/; ﬂ{.&j‘kl.{i 4
106075 (D) - 10523 (C) A 05325 (B) 10325 (A)

The number of elements present in third period of &%J %lu’.‘é/_'eg/fédi”:figﬁw 5

modern periodic table is : %5

32 (D) 18 (@) 8 (B) 2 (A)

Which one of the following is suspensi &?w ; g.u’:'f‘/ l/d)/c;dd:)'b/) 6
Milk 2222 (D) Ink ébfu (C) Sv@ution oﬁ)’/(:f‘ (B) Milk of magnesia _Li.?é'..i T (A)

The molar mass of Hﬁ%@ e Ut A ¥ H,5007
9.8 gm (D) 98 gm (C) 98 amu (B) 9.8 amu (A)

The most abundant metal is : : gﬂdf,LngcQ}C:giaq 8

Platinum i (D) Siver »~ (C) Gold tx (B) Aluminium A
Which one of the following scientists discovered proton . - y’:::sg»ut'a{a‘.fc_ S UIF S 5 |9

Gold Stein ¢2 4 (B) J.J. Thomson & z—-2— (A)
Neil Bohr 4 F (D) Rutherford . 59 (C)

Which one of following solution is non-electroiyte : : ‘a.-f’u:}?!utvw/c.u!uf;'(w 10
Sugar solution S+ (B)  Solution of 1,50, ik¢ H,50, (A)
Solution of NaCl ¢f&¥ NaCl (D)  Lime solution J+ (C)

Mist is an example of : : c‘-_JL‘i'd/J)’JCm 11
Gas in liquid wfuﬁ& (B) Liquid in gas CjLuﬁJf (A)
Gas in solid U2 EU¥ (D) Solid in gas UALUY (€)

The spontaneous reaction takes place in a cell : : ‘;;rnuﬂdfgfffgldzgfs‘f Wad_ses#31 |12
Down's cell (<7315 (B) Nelson cell J@’L’ (A)
Galvanic celt Jouf W (D) Electrolytic cell Jomh 2 (c)
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10 2. Write short answers to any Five (5) questions: ;£ =2 /"’ L ey (5) éb . Jf . |

(i) Define physical chemistry. -4{ o]% ..ﬂ/" J d/ Jg/ ()
(i) Write the chemical formula of water and sugar. & // U dt/( "R g}(. (ii)
(i) Define mixture with an example. -& Jé ..f' é Jk .:J/" J,m.&a (iii)
(iv) What is the nature of charge on Cathode rays? fe Lf =y «,,( &l ¢ 24 3 (iv)

(v) How is U-235 used for power generation? "at‘(a(/ Jb’l d/ cJ_ L S J‘b J-/l / U-235 (v)
(vi) Define electro-negativity with an example. -é 5 Iy = JV J./ J/’ J d ).Lgiu :/g' (vi)

(vii) Define Shielding Effect. é Jk _ﬂ/’ J L j)f (vii)
(viii) What is the trend of electron affinity in a group and period? "c.. lfu\? /b’d:'f' '/a";»ﬁwl..,:f (viii)
10 3. Write short answers to any Five (5) questions: :é ulv’i /"’ L =y (5) él = Jf -3

(i) Differentiate between donor atom and acceptor atom. Z./ 5 s u/ o f-'-l Sl 291 (' ~1735 (i)
(ii) Define a single covalent bond with an example. -Z=» Je J 2! <‘.J: i Y J i\ ek Jﬂ’ (ii)
(iif) What is meant by coordinate covalent compounds? "9 sy _L_f ﬂ;lf ..Jw( 3 'l (iii)

(iv) Define a melting point. \! ..-rU .,C»V (iv)

(v) Evaporation causes cooling, why? u/ é@ i Jl»’ & gf ==y (V)

(vi) Identify as colloids and suspension from the following : 0% ! ,vlJ:( -INY 4 J ;Z//: (vi)
Paints, jelly, milk and chalk in water. @ -..f b J' dt P -

(vii) Define an unsaturated solution. %5 -’.- - /’ 4,,( J’" »./f wi (vii)

(viil) Write name of two non-polar solvents (t L el ol }iut s (viii)

10 4. Write short answers to any Five tlons :’ IOI 4 /"" L =y (5) é& - Jf -4
(i) Define reduction on the basis on and - ;JL‘/J:’ é J/"J JC&/ e L L ul/al (i)
give example.
(if) Define non-electrolytes e examples. L2 JJL/ 2! :f J/ J J‘U:/U' ot (ii)
(iii) V[\J/here c(i:o tr;e electron flow from Zn electrode in St bu}’gﬂﬂ/ﬁ'c. u/'ai..f/ 9 J’ J:’ =3 (iii)
aniel Cell?

(iv) Write the redox reaction taking place during -J u’( 'J/JK uvbd.rdl:ubué .ﬂ:‘-’:/a d’(/;/ (iv)

the electroplating of chromium.
(v) Write down any two physical properties of metals. -d’f uw" JJ’ 2 g d:( J Pt (v)

(vi) Write down the name of Nobel metalis. -4{ / / rt L & J’ s (vi)
(vii) Describe the non-metallic character in -éf kG m i ﬁ/"u)/f b’/f/':j 20119 J’ .f; Lz (vii)

group and period of the periodic table.
(viii) In bright sunlight how CZ, and CH , react? ?c..txéwfld/b’ CH, ,» C¢, ‘;&J;JCJY (viii)
( PART-11 (13 & )
Note : Attempt any TWO questions. ezl 3 s

5 5. (a) Write five differences between Rutherford's -f//u/éLu’ S L g S B L1330, (L) .5
atomic theory and Bohr's atomic theory.
4 (b) Describe four types of molecules with examples. -é Uk Jett rLULLJ g}f«fdza L (&)

5 6. (a) What is chemical bond? Why do atoms vgwf;t&‘(/t "c.:'/(fr_;tgﬁ‘{ () -6
form chemical bond?

4 (b) State Charles's Law. Derive its mathematical formula. ..235 TR (g (B é ugw’ﬂ’d& (<)

5 7. (a) What is oxidation state or oxidation -gxilgcdﬁdi "c"_lf/u?i_ffl'&_b::’gﬁi_/f' (@) .7
number? Write its any four rules.

4 (b) Write any four characteristics of suspension. - é Z /’o gn“;/ by (j;{d/ u”rl (&)
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